
Table of Laplace Transforms

h(t) = L−1[H](t) H(s) = L[h](s)

tneat for n ≥ 0
n!

(s− a)n+1
for s > a

eat cos(bt)
s− a

(s− a)2 + b2
for s > a

eat sin(bt)
b

(s− a)2 + b2
for s > a

eat cosh(bt)
s− a

(s− a)2 − b2
for s > a+ |b|

eat sinh(bt)
b

(s− a)2 − b2
for s > a+ |b|

tnj(t) for n ≥ 0 (−1)nJ (n)(s) where J(s) = L[j](s)

j′(t) s J(s)− j(0) where J(s) = L[j](s)

eatj(t) J(s− a) where J(s) = L[j](s)

u(t− c)j(t− c) for c ≥ 0 e−csJ(s) where J(s) = L[j](s)

δ(t− c)j(t) for c ≥ 0 e−csj(c)

Here a, b, and c are real numbers; n is an integer; j(t) is any function that is nice enough;
u(t) is the unit step (Heaviside) function; δ(t) is the unit impulse (Dirac delta).
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